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. Examinee must write his/her Roll Number in the
specified box on the lop left hand corner of this page.
Answers are required to be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examinee.

. Besides filling in the Roll Number, the examinee has 1o
put his/her signature on the Answer Sheet and also fill
other required details like Name, Roll Number, Questicn
Booklet code, etc. as indicated on the Answer OMR
Sheet. If these details are not filled in by the examinea,
his/her Answer Sheet will nol be svalualed.

3. For each question, there are four alternative answers,
out of which only ane is correct. Examinee must darken
tha circle of correct option in the Answer Shast by Black
Ball Pen only.

. There are 40 (37+3) pages in this Question-Booklet
including 1 page for General Instructions and three
blank pages for Rough Work in the last, In case
an examinee receives an incomplete or defective
Question Booklet, he/she should make a request
to the Room Invigilator lo change the same within
10 minutes of start of the exam.

5. This Question Booklet contains 150 questions from
following subjecls :
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Z (1) Physics Q.Nos, 1-50
(2) Chemistry Q.Nos. 51-100
{3} Biology Q. Nos, 101 - 150

8. Each question carries 1 mark and % mark will be
deductad for each wrong answer.

7. In case of any discrepancy between the English and
Hindi versions of any question, the English version will
be treated as final/authentic.

8. Possession and use of eleclronic devices such as
Calculator, Gellular Phone, Digital Diary, Log Table,
Pager elc., are restricted during the examination.

9. Any teal from the Question Bookiel should not be
detached. After the Examination, Question-Booklet
and Answar-Sheet must be handed over lo the Room
Invigilator. :

. During examinalion the examinee will not be aliowed
lo leava the examination hall till the END of the
Examination,
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1. Twowires of same length are shaped into
a square and a circle. If they carry same
current, ratio of magnetic moment is
A)2:n B)m:2
C)n:4 D)4:n

PHYSICS

2. Two identical magnetic dipoles of
magnetic moment 2 Am? are placed
at a separation of 2 m with their axes
perpendicular to each other in air, the
resultant magnetic field at a midpoint
the dipoles is

A) 4J5x105T
C) 4/5x107T

B) 2/5x1075T
D) 2v5x107T
3. P, Qand R are long straight wires in air,

carrying currents as shown in the figure.
The force on Q is directed

P Q R

20A ) 40A 60 A

A) to the left

B) to the right

C) perpendicular to the plane of the
diagram

D) along the current in Q

4. The magnetic flux linked with a coil of
N turns of area of cross section A held

with its plane parallel to the field B is

A) % B) NAB
C) ﬂﬁﬁ D) 0

Page No. 3

Wifaew B
1. < BAH TS % a3 af e gre
13t T T forea @, o1 e st
ERRISA
A)2:n
C)n:4

B) n:2
D)4:x

2. g A yiel F -7 F wedd W@ g

2 Am? erhta el % 3 ok S gEh
feyeha 2 m i ot W @ T E) fee &
T Ay forg W o geehig &9 8

A} 4J5x10°5T B) 2/5x10°T
C) 4/5x107T D) 2/5x107T

3. P, Q3R Rarg 7 oia i am & afk femmgem

fmafdi Qe fEfm e

P Q R
20A| 40A 60A
A) arq
B) s
C) @ & Tt & dead
D) Q¥ forpa & @iy
4. A STITEAHIE &= 1 N gamEt arehl freeht
* G % &7 B % THAIG Seh a8
A) % B) NAB
C) # D) O
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5. A coil having an inductance of 0.5 H |

carries a current which is uniformly
varying from zero to 10 A is 2 second.
The emf {in volt) generated in the coil is

A) 10 B) 5
C) 25 D) 1.25
The total energy of electron in the ground

state of hydrogen atom is —3.6 eV. The
kinetic energy of this electron in first
excited state is

A) 6.8 eV B) 13.6 eV
C)1.7eV D) 3.4eV
. The half life of a radioactive isotope X is

50 years. It decays to another element
Y which is stable. The two elements
X and Y were found to be in the ratio of
1:15 in a sample of a given rock. The
age of the rock was estimated to be
A) 150 years B) 200 years
C) 250 years D) 100 years

. The wavelength of first line of Lyman

series for hydrogen atom is equal to that
of the second line of Balmer series for a
hydrogen like ion. The atomic number
Z of hydrogen like ion is

A) 3 B) 4
C) 1 D) 2
. An AC supply of 230 V is applied to

a half wave rectifier circuit through a
transformer of turn ratio 10 : 1. Find the
output DC voitage. Assume the diode
to be ideal.
A) 230V

C) 104V

B) 52V
D) 20.8V

Page No. 4

. 0.5 H 3 areht O geeht # U faga @ &

T w8 2 e # Y@ A 10 A T fafay
et 21 el § 30w JuATs (volt # ) 8
A) 10 B) 5

C) 2.5 D) 1.25

. T T U BTSN TUAT] & SAaei i il

I -3.6 eV & | WU Iufem fufa 4 38
TR =hi TTieeT Sl B

A) 6.8 eV
C) 1.7eV

B) 13.6eV
D) 3.4 eV

. T Wit ameenfn X o atig 50 a¥

2 |7 U o a@ Y i fafen g g S
BRI TEE R TR AAA TE X MY
1:15 % UM # UL Sd § | <IgH 1 3Y
. ogmPEAITER |

Ay 150 =9 B) 200 ¢

C) 250 a% D) 100 a9

. TTESISH TUATY] I T @ Rl HUH 1@

) AT U TTRgIeH 99 ST il FTeAt
siren e e SR R | BTN
T =1 O] T Z ®

A) 3 B) 4

C) 1 D) 2

. 10 ; 1 S[TE STUTE ¥ R STAHIER & ATea

T Uk 7 el ufue e 230 V i
AC a1 <t Wit B | T i a1 A

§C DC dices STah 16 1 |
A) 230 V B) 5.2V
C) 10.4V D) 20.8V
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10.

11.

12.

13.

14.

What will be the input of A and B for the
Boolean expression (A +B).(A-B ‘B)=17
A) 0,0 B) 0, 1
C) 1,0 D) 1.1

A body of mass m, moving with a
uniform velocity of 40 ms- collides with
another body of mass m, at rest and
then the two together begm to move
with a uniform velocity of 30 ms-'. The

ratio of their masses my is
m2

A) 0.75
C) 3

B) 0.33
D) 1.33

In planetary motion, the angular
momentum conservation leads to the
law of

A) orbits

B) area

C) periods

D) kinetic energy

Two wires A and B have the same
length and area of cross section. But
Young's modulus of A is two times the
Young's modulus of B. Then the ratio
of force constant of A to that of B is

A) 1 B) 2
o % D) 2

The equation of motion of a particle
executing Simple Harmonic Motion is
a + 16n%x = 0. In this equation, a is the
linear acceleration in ms2 of the particle
at a displacement x in metre. The time
period in simple harmonic motion is

10.

1k

128

13.

14,

ferad stfieaf® (A +B).(A-B) = 1% fw
A 3R B T 27T =01 8 ?

A) 0,0 B) 0, 1

C) 1,0 D)1t

m, SIU 91T O 9] 40 ms™' I O

wén%maﬁmﬁt@ﬁwmmm
T g & THUA § 3R T S 30 e

AT ST AT I Y6 A & | 3% FerwE
rn‘l

=y o)

A) 0.75 B) 0.33

C) 3 D) 1.33

Ghelt fa & Fofg aram e _
< foem ook vgman 2 |

A) &

B) &=

C) arafy

D) wfos =it

QA A A 3R B i wiard it Sryree =
BT WA §, TG A 1 I 79T B 3
T T ST R | A A % I PR & B
& 9 FRIdie 1 STuTa @

A) 1 B) 2

WA D) V2

T TIaE T 59 I T F07 # h
o THERT a + 1672 = 0 ® | 39 wfle
% wftet 3 x feefta g0 w51 iR @ g,
ms—2H § | TS TIeig T & arafy R

1 1 .1_5 1

L 8 B) —
A) 7S B) 28 A) 7 ) i
C) 1s D) 2s C) 1s D) 2s




15.

16.

17.

18.

19.

The average kinetic energy of a gas

molecule is

A) proportional to pressure of gas

B) inversely proportional to volume of
gas

C) inversely proportional to absolute
temperature of gas

D) proportional to absolute temperature
of gas

An electric field is given by
E=(y€+x'j)NC'1.The work done
in moving a 1C charge from
ry, =(2i+2)mtorg = (4i+]}m is

A) +4J B) —4J

C) +8J D) zero

There is a current of 4.8 ampere in a
conductor. The number of electrons that
cross any section normal to the direction
of flow per second is

A) 109
C) 3x10%

B) 2x10"
D) 7x10%

Magnitude of drift velocity per unit
electric field is

A) Current density
B) Current

C) Resistivity

D) Mobility

The colour code for a resistor of
resistance 3.5 kQ with 5% tolerance is
A) Orange, green, orange and gold

B) Orange, green, orange and silver
C) Orange, green, red and silver

D) Orange, green, red and gold

Page No. 6

15.

16.

17.

18.

19.

e A 279] <hi aftaa Tfes =T @
A) T8 o e % T

B) 4 % 3T o ShHIUTd!
C) & % quf aTaHT % FEHHTAT
D) | % qul arouH & 1A

T REEE E = (yi+ x)) NC RITFI1CH
FAAH T, = (2i+2j)m B 1y =(4i+j)m

H o w4 o e Tren e @
A) + 4 B) —4J
C) +8J D) I3

T I i 4.8 TR it fowE 21 w'E

= femm * e gl S5 fReh e | I
HEAT FAFA I HEA R

A) 10" B) 2x101

C) 3x10" D) 7x10%

fer SerTE Terea &1 SToaTE ST H A 8

A) faega s

B) feregm

C) yfatiemerar

D) it

5% TRIT & @Y 3.5 KQ & Uy 91 T
wfeief =1 T1 he &

A) Hell, &1, Tl 3R e

B) Tadt, &1, Gadt o At

C) Gadl, B0, e X =rel

D) Tedt, &1, wTel 31N gl
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20. Whatis the potential difference between
the points A and B in the circuit diagram
shown in figure ?

20V
[A
A 8O
B C
100z 4Q
Ll
A) QVOIt B) 10 Volt
3 3
20 10
C) —= Volt D) —= Volt
V3 NE]

21. An electric bulb rated 220 V, 100 W is
connected in series with another bulb
rated 220 V, 60 W. If the voltage across
the combination is 220 V, the power
consumed by the 100 W bulb will be

about
A) 25 W B) 14 W
C) 60w D) 100 W

22. A potentiometer wire 10 m long, has
a resistance of 40 Q. It is connected
in series with a resistance box and a
2 V storage cell. If the potential gradient
along the wire is 0.1 mV/cm, the
resistance unplugged in the box is

A) 260 O B) 760 Q
C) 960 0

D) 1060 Q C) 960 O
D Page No. 7

20. ferr # fe@m 7o afae o@ 1§ figsit A 3B
& g fovam T R 7

20V
[A

5Q 80

100 40

o

A) 20

— Volt B) 10 Volt
3 3

20 10
Vot D) —= Volt
NE]

NE

21. 220V, 100 W 1 T fargpa ofest @ 220 V,

C)

60 W o U Sicsl o T1Y &l 3 Sigl T |

I 30 wAie T diees 220 V /, 1 100 W

I I g WU Y TS vl R

A} 25 W B) 14W
C) 60 W

22. T U ¥R 10 m &= 3% 40 Q
ik 81 3ft @ o gl s el e v
<ht TigRYT T B et 1 g ST @ oi ar
o3 TRk 0.1 mV/em &, o s i wifeker 2

A) 260 Q

D) 100 W

B) 760 Q

D) 1060 Q
8 PM PCB



23.

24,

25,

26.

In the loop shown, the magnetic
induction at the point O is

p_OI-H1+R2_

B)
8 | RyR;

ol [ RyR, ]

8 [Ry+R; |
D) Zero

Ampere's circuital law can be derived
from

A) Ohm's law

B) Biot-Savart law

C) Kirchoff's law

D) Gauss law

When 0.005 A current flows through a
moving coil galvanometer, it gives full
scale deflection. It is converted into a
voltmeter to read 5 V using an external
resistance of 975 Q. The resistance of
the galvanometer in ohms is
A) 5 B) 10
C) 15 D) 25

When a current of 2 A flows in a battery
from negative to positive terminal the
potential difference across itis 12 V. If
a current of 3 A flowing in the opposite
direction produces a potential difference
of 15 V, the emf of the battery is

C)

23.

24.

25,

26.

?ﬁﬁmmﬁgomﬁﬁwﬁw

Hol

8 | RR;

A)

p_ol_R1+R2q
8 | RyRy |
Bl [ RiR, |
8 LR1+H2_
D) ;&

wrdfta o witgef fm &t e
frm ST 2 |

A) irem =t Fam

B) wiae-¥are i fom

C) fratw = foem

D) s =1 fm

W T =] Feelt Heanfiet & 0,005 A
o et 3, < 9% i Y fadmw Ramn
%138 975 Q % FTe WA 1 T FW T

B)

C)

5 V % 3ieh 8 T diceriel § Saa T
TeaATHiet &1 T AT HE |
A) 5 B) 10

C) 15 D) 25

e T o) W RO @ O 9 O 2 A
ferega et R ol god T 12 VR 1 AR
faga 3 A 1 faadia fem d sgawt 15 vV
favaiar o= el B, T ) 1 §uHE R

A) 126V B) 13.2V
A) 126V B) 13.2V
C) 135V D) 140V C) 135V D) 140V
Page No. 8 8 PM PCB
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27. With a potentiometer, null points are
obtained at 140 cm and 180 cm with cells
of emf 1.1 V and one of unknown vaiue
respectively. The unknown emf is
A)y11V B) 1.8V
C)18V D)y 141V

28. An infinitely long conductor is bent into
the shape as shown in the figure. It
carries a current | and the radius of the
circular loop is r. Then magnetic field at
the center of the loop is

0
N ~,
I 7
A) zero B) infinity
l [
C) Ko (r41 Dy Mol .
) oy ) ) o (m=1)

29. In a current carrying long solenoid,
the magnetic field produced does not
depends upon

27. TH RIS S A, 1.1 V sk os o
AT U Tt ) @ 140 . |, sk
180 . . Fmar: W v forg wier B9 2
I SUATE B

A) 1.1V B) 1.8V

C) 16V D) 141V

28. @aﬁaﬁéwaﬁﬁaﬁﬁmaw

SRRy A wivgr T B g | foregar @ afw g
TSI BT r 1 g % S e A
g

™~ ~

g g
A) I3

)
C) o (m+1)

B) aFgd
Mo
P) 2nr (m=1)
29. W forgga urlt wiefl witierm & Seqs gaeh

8 wieRadwaE

A @
A) Current flowing ):;Fﬁ . P
B) Number of turns per unit length B) SIS TS T i Fe
C) Radius of the solenoid C) uierert A e
D) All of the above D) 37a &+t
30. A circular loop of area 0.01m? carrying 30. 10 A 33 amT 0.01m? drdet 1 ©&
a current of 10 A is held perpendicular AR YA 0,1 T b1 & Teia & wiaaet
to a magnetic field of intensity 0.1 T. STt
The torque acting on the loop is B1 0 SR e ik
A) Zero B) 0.01 Nm A) I3 B) 0.01 Nm
C) 0.001 Nm D) 0.8 Nm : C) 0.00t1 Nm D) 0.8 Nm
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31.

32.

33.

The figure shows a LCR network
connected to 300 V AC supply.
The circuit elements are such that
R=X =X,=10Q. V, V,and V,
are three AC volimeters connected
as shown in the figure. Which of the
following represents the correct set of
readings of the voltmeters ?

V1 V2 Va
OTOTCr
PV NS B

R L C
=

300V

A) V, =100V, V,=100V,V, =100V
B) V, =150V, V,=0,V, =150V

C) V,=300V,V,=100V, V, =100V
D) V, =800V, V,=300V,V,=300V

A transformer with efficiency 80% works
at 4 kW and 100 V. If the secondary
voltage is 200 V, then the primary and
secondary currents are respectively
A) 40 A, 16 A B) 16 A,40A
C) 20A,40A D) 40A,20 A

The rms value of the electric field of the
light coming from the sun is 720 NC-'.
The total average energy density of the
electromagnetic wave is

A) 3.3 x 107 Jm3

B) 4.58 x 1078 Jm™®

C) 6.37 x 10* Jm™®

D) 81.35x 1072 Jm™®

Page No. 10

31.

32.

33.

i § 300 V AC 3TTqfdf @ Gk LCR 2
o1 femmn T #1 TR aea 3@ TR E,
R=X_=X,=10Q1V,, V, 3 V,dH

AC Seaiier fam #f e e argER g€ Bl
fraffaa 1 @ FH-91 SiceHied & 3T H
& = Tt @ 7

V1 V2 Va

R L C

(AN

L/

300V

A) V, =100V, V,=100V,V,=100V
B) V,=150V,V,=0,V, =150V

C) V, =300V, V,=100V, V,=100V
D) V, =300V, V,=300V,V,=300V
80% FAIET =iell Th ZaBR 4 kW 3T
100 V W & a1 21 Rk fidfrers Aees
200 V ¥, T serftrn air fecfren foreg sm: &
A) 40A, 16 A B) 16 A, 40 A
C) 20A,40A D) 40 A, 20 A

T Q 377 7l RT3 ForRga & R rmss WH
720 NC-' 3| farg eehi otn <t gt 3hed
Tl O §
A) 3.3 x 108 Jm™
B) 4.58 x 10 Jm~
C) 6.37 x 10 Jm™®
D) 81.35 x 10-'2 Jm™3
8 PM PCB
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34.

35.

36.

37.

An object placed infront of a concave
mirror at a distance of x cm from the
pole gives a 3 times magnified real
image. If it is moved to a distance of
(x + 5) cm. The magnification of the
image becomes 2. The focal length of
the mirror is

A) 15¢cm B) 20 cm

C) 25¢cm D) 30 cm

A vessel of depth (2d) is half filled
with a liquid of refractive index [TH
The remaining upper haif is filled with
another immiscible liquid of refractive
index p,. The apparent depth of the
vessel, when viewed normally is

A) g[ﬁ:+i} B) 2d[l+l]

AT S
1 i dly, p,

The light ray is incidence at an angle
of 60° on a prism of angle 45°. When
the light ray falls on the other surface at
90°, the refractive index of the material

of prism p and the angle of deviation &
are given by

A) p=\/§,8=30°
B) u=1.5,8=15°

V3

=22, 5=30°
Cliais

3
=,/—,5=15°
D) H=y3

A ball is dropped from the top of a
building 100 m high. At the same instant
another ball is thrown upwards with a
velocity of 40 ms™' from the bottom of the
building. The two balls will meet after
A) 3s B) 2s

C) 25s D) 35s

Page No. 11

34.

35.

36.

37.

T 37l o9v1 & g qd & x §., Frgh
W TGl g i 3 7om a1t At ofy W
B B 1 AR (x + 5) Ff. R uw gl
AT ST R, W IR B 1 onat 2 8
S 2 | 790 ) Bkt SES R 2

A) 15 8.1, B) 20 €.4.
C) 2541 D) 304.4.
(2d) TTETS ST O e TR B, FCH 5T

 STIEIT T I | TR S O 3T e iR
58 o701 & Forere atoeeiien 1, | 9w e E
@ 3@ i , A s s R

A g[fjﬂ B) Zd[i+—1-J

Hy Hp
c) d[L,L] D) 3[1,;]
K U dipg, m

I 45° 3 T T T 60° 3 T H0 R T
ehreT feeer smmafcrer S R | e SR )
A 3 90° W et 2 & oo & wenlf
SR it 3R forere o i

A) n=+2,8=30°

B) p=15,5=15°

C) p:%,8=30°

3
=J—,5=15°

TH TR I 100 Y. =it vk s0me s < froa
ST 8 ) 3H) 999 TURA % 99 & 40 ms-'
% o IR A 3N T 3= A7 HeY S
RIgHIE _  wwEfiehh

A) 3s B) 2s
C) 25s D) 35s

8 PM PCB
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38.

39.

40.

41.

Two balls aré projected making angles of
30° and 45° respectively with horizontal.
If both have same velocity at the highest
poi%t of their path, then the ratio of their

horizontal ranges is
A) 1:3
C) ¥3:42

B) 3:1
D) 1:43

Two blocks of 2 kg and 1 kg are in contact
on a frictionless 1able. if a force of 3N is
applied on 2 kg block, then the force of
contact between the two blocks will be

SN J 2xg

B /a7

1kg
T o A

A) ON
C) 2N

B) 1 N
D) 3N

If the linear momentum is increased
by 50%, the kinetic energy will be
increased by
A) 50%

C) 125%

B) 100%
D) 25%

A convex lens of focal length 0.15 m is
made of material of refractive index %
When it is placed in a liquid, its focal
length is increased by 0.225 m. The
refractive index of the liquid is

N % B) %
o %

38.

39.

40.

41.

o) % o %

1 Tl =i shwT: 30° 3T 45° 1 =hi fEafarsT
3 Tl T g el ST # | 3f @ o Ao
gy ¥ gared fgall W wwE 3 € &, @

IR 8 ot o orgam B
A) 1:3 B) 3:1
C) V3:42 D) 1:4/3

2t 2 fp.am, et 1 R, & octieh T T
g AT W Euh 0 8 | A 3 N 1 T &
2 for.m7. % soiie WX TR STl R, @ gl

gl o off wueh &1 B
aN
—— | 2kg kg
A A R A A
A) ON B) 1N
C) 2N D) 3N
afe Wasw =9 = 50% e oI e |
TTfos St g Sl |
A) 50% B) 100%
C) 125% D) 25%

U I 9 e Bishd s 0.15 . #,
3/ 3 sradien oot ward A s R | 5 @
TF 39§ T AT R, O TR Rk @y
0.225 . ¢ ST & | 5 T UFAIF o

W/ B) %
D) %

8 PM PCB
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42,

43.

45,

In Young'’s double slit experiment, the two
slits are 0.2 mm apart. The interference
fringes for light of wavelength 6000A
are found on the screen 80 cm away.
The distance of fifth dark fringe from the
central fringe will be

A) 6.8 mm
C) 9.8 mm

B) 7.8 mm
D) 10.8 mm

A diffraction patter is obtained using a
beam of red light. What happens if the
red light is replaced by blue light ?

A) No change

B) Diffraction bands become narrower
and crowded together

C) Bands become broader and farther
apart
D) Bands disappear altogether

The moving proton and o-particle are
subjected to the same magnetic field, so
that the radii of their paths are equal to
each other. Assuming the field induction
B is perpendicular to the velocity vector
of the «-particle and proton, the ratio of
de-Broglie wavelength of o-particle to

that of proton is
B) %

I/
C) 1 D) 2

At a certain time, a radioactive substance
contains 2 x 10? atoms andits disintegration
rate is 3 x 10" atoms/second. When
2 x 10" atoms are left to decay, its
disintegration rate will be

A) §x101° atom/s

B) 0.693 x 3 x 10" atoms/s
C) 3 x 10° atoms/s
D) 3 x 10" atoms/s

42,

43.

44.

45,

o % e wm A A fox 0.2 wd
B6000A Foreian % wehret ¥ safeRtor ament
9 W 80 €. 7. X firereht & | el arem @
uferelt ST e A g &

A) 6.8 .. B) 7.8 i 3.

C) 9.8 #i .. D) 10.8 #.#i.

Ueh T TehIT 3t fohur 1 o o ey

YT ferar St & | v S AR STt weeTar

1 et @ wfaeenfia =t fem sme ?

A) HEufEdT g

B) faadw gt dehief < wrwft afit w @y
e st

C) dfgai =t aft -2 & st

D) ufgai v e e 8t st

T et MIE 7R o - 07 Sh G0 e

8% # T R, 91 9 vy f B
Th-TRFTAF S | 96 A0 g S 3w B,
o 3R W F A afew ¥ daaq g,
o~ i -t atreedar w5 W §

SRSl
A Y B) %
C) 1 D) 2

TR T O el aered & 2 x 10 oy
& 3T gEeht formeT R 3 x 10" T /g
® 19 2 x 10 T fwew, dgw@ E @
Torere <t Bt

A) %mo‘" /g
B) 0.693 x 3 x 10" /g
C) 3 x 105 g/ dshg

D) 3 x 10" THW]/Ahg
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46,

47.

Two fixed point charges + 4e and + e
units are separated by a distance a.
Where should the third point charge
be placed in between them to be in
equilibrium ?

A) At adistance 3—; from + 4e charge

B) Ata distance %a from the charge

+ 4e

C) Atadistance %a from + 4e charge

D) At a distance %a

+ 4e

from the charge

46. @ Tifvaw fog amaw + e 3R + o Tl

a g R | grgeaa i fTufa 48R % fore

T ot o e fig s =t @ s ?
3a

A) +de FQEW E “Z—Tﬁ'{ﬁﬂ
2a

B) + 4o AWM A 3 Eﬁ'a;ﬂq-{

C) +de s LARLW

D) +4 RN 2 AT

Charge Q is distributed to two different 47. 33w Q F R 31K 2R feued g Q) fim
metallic spheres having radii R and wifesrer it A 59 W frafa frar mn @ 6
2R such that both spheres have equal 7 et T T ST O 24
surface charge density. Then charge on
gedenety 2 T2 Tl T 3ITET §
larger sphere is A
4 A) =Q
7Q S
A) 5
Q
Q Bl —=
BY — 5
) 5
3
o) 2a C) 5 Q
5
5 5
D) = D) —Q
: 4 < 4

Page No. 14
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48.

49,

50.

Two identical capacitors 1 and 2 are
connected in series to a battery as
shown inthe figure. Capacitor 2 contains
a dielectric slab of dielectric constant K.
Q, and Q, are the charges stored in
the capacitors. Now the dielectric slab
is removed and the corresponding
charges are Q; and Q,, then

Rl | |
1 2
|
IE |
A Q_K+1 g G Kt
Q, K Q, 2
Q, K+1 Q, K
C)Q, X Di¢igr =

The electric potential at a point in free
space due to a charge Q coulomb is
Q x10""' V. The electric field at that
point is

A) 4ne Q x 102 Vm-*

B) 12ne,Q x 102 Vm-!

C) 4ne Q x 10¥ Vm~!

D) 12re,Q x 102 Vm~!

The resistance of a 10 m long wire is
10 Q. lts length is increased by 25%
by stretching the wire uniformly. Then
the resistance of the wire will be
A) 125Q B) 145Q

C) 156 Q D) 18.6 Q

Page No. 15

48.

49,

50.

3 T T T 1 SR 2 U At & e |
o & farmm srgam i &) et 2 % umgferr
T K %1 T Tgfesn wiw 81 Q, 3R Q,
G 7 e TR ¥ o Ui wie
T & E R SR H amEw Qs Qg R, &

| ||
1 2
|
E ]
A) Q_;:K+‘1 B) Q, =M
Q, K Q, 2
Q _K+1 Q _K
Y Q, X D) Q 2
T &Y Q F& & FR G T4H H Th

foig w fomgge @ Q@ x 10" VI W feig W
IEEGEERS

A) 4ne Q x 102 Vm™!

B) 121e,Q x 102 Vm!

C) 4ne,Q x 10 Vm~!

D) 12re,Q x 102 Vm-!

10 . T« w& TR 1 IR 10 Q B 3@R

TATS 1 1 THH &9 8 Eiea 25% g1 31

T8 ]| IR T wiedy B
A) 125Q B) 14.50Q

D) 1860
8 PM PCB

C) 156 Q



bt

51.

52.

53.

54.

55.

CHEMISTRY

All natural and artificial radioactive
decay of unstable nuclei take place by

Kinetics.
A) Zero order

C) Second order

B) First order
D) Third order

Which noble gas does not occur in the
atmosphere ?

A) Krypton
C) Helium

B) Argon
D) Radon

In Freundlich isotherm,
Iog%: log k+ % log p, the value of nis

A) between 0 and 1
B) between 1 and 2
C) between 2 and 3

D} between 1.5 and 2.5

The formation of micelies takes place
oniy above a particular temperature
called

A) Critical temperature

B) Super critical temperature
C) Kraft temperature

D) Elevated temperature

Mond process is used for refining
A) Fe
8) Cu
C) Al
D) Ni

Page No. 16

51.

52.

53.

54,

55.

LCIPEREEIL)
IfeR Tifivs & ot wipforr ik W
Yeaudffomeam_  FRswgw
BT B
A) TE TR B) et Hife
C) guIFHife D) e =ife
Fa1 35 9 Fgyea T aw s ¢
A) freem B) amia
C) dfcram D) &= (Radon)
Feefi= (Freundlich) aTgahysd
Iog%:logk+%logpﬁnﬂ-ﬂ1ﬁl%
A) 01N
B) 13k 2% &=
C) 23R 3F =
D) 1.53R 2.5% #fiw
firtea =1 Fmior sae v fosie aone &
FR AT ], Sl FEm e @
A) wifee (frfesrar) amomm
B) sAft wifoe awe
C) I aUH=
D) 3=id auEH
Tis WAT o1 3941 34 RwmEiim # ea @
A) Fe
B) Cu
C) Al
D) Ni

8 PM PCB
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56.

57.

58.

58.

60.

Axial angles (Edge angles) of
Tetragonal crystal system is equal to
A) a=p=90°v =120°

B) a=vy =90° B =90°

C)a=p=y =90°

D) a=B=y=90°

When Germanium is doped with
phosphorous is an example for
A) n-type-semiconductor

B) npn-semiconductor

C) p-type-semiconductor

D) pnp-semiconductor

To increase the solubility of CO, in
soft drinks and soda water, the bottle
is sealed under

A) High temperature
B) Low pressure
C) Low temperature
D) High pressure

When blood cell is placed in a solution
containing more than 0.9% (mass/
volume) saline solution, the blood cell
will shrink due to

A) Osmosis

B) Reverse osmosis

C) Dilution

D) None of these

The standard electrode potential for
Daniel cell is 1.1V, the standard Gibbs

energy for the reaction
2+ 2+
Zn, +Cu®  —2Zn

A) —212.27 KJmol-
B) +212.27 Kdmol-'
C) —212.27x1077 KImol™
D) +212.27x107 Kdmol™

e Cu(s) is

Page No. 17

56.

57.

58.

59.

60.

T Agehivii e Yorrel o i i (Rem
% ThIvT) W ST B

A) a=p=90°y = 120°

B) o=y = 90°, P = 90°

C) a=f=y =90°

D) a=p=y=090° e

o’

el STH-ET 3 WY HEhRy e s 8,
IR 1 T (R ¢ |

A) n-TTR T LRI

B) npn-sitfemers

C) p-3RFR &I Ag=TeTh

D) pnp-aTH=eh

qTte fégm M gt 9ia # CO, i
gamﬁamaaﬁ%ﬁmsaﬁaﬁaaaﬁ
T Hietse R ST 2 |
A) I== T9EF

B) = e

C) fm= ammm=

D) J=d M

S T IR i 0.9% & 21tk (gsamE/
) @R forem T faerm A e s
], O R % R Rgps St R
A) TET

B) 3¢ TE0T

C) fatem

D) ¥ A 1§ Tl

e 99 & fou o sy favwa
1.1V ® | stfsfsean

24 2+
an+Cu (aq}——>Zn (sl

% fore o e et @

A) —212.27 Kdmol™’

B) +212.27 Kdmol~*

C) - 212.27x107 KJmoi™
D) +212.27x107 KJmol™!

8 PM PCB
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61. Benzene sulphonyl chloride is called as
A) Lucas reagent

B) Tollen's reagent
C) Fehling’s reagent

D) Hinsberg's reagent

62. Night blindness is caused due to the
deficiency of following Vitamin.

A) Vitamin B, B) Vitamin A
C) Vitamin'C D) Vitamin E

63. When Hexamethylenediamine and
adipic acid undergo condensation
polymerisation at high pressure and
high temperature to form
A) Nylon 6, 6 B) Nylon 6
C) Terylene D) Bakelite

64. Neoprene is an example for the
following type of polymer.

A) Thermosetting polymer
B} Thermoplastic polymer
C) Fibres polymer

D) Elastomers

65. Which of the following transition element
exhibit the oxidation state of +7 ?

A) Mn
B) Fe
C) Ni
D) Cu

D Page No. 18

61.

62.

63.

64.

65.

oS ehiT FRES __ wEadi g |

A) 75 figsie
B) 2iwig fusie
C) W fusie
D) femeri fgsie

it Frafafae fefm fw=ha
HGiEN

A) fafi B,
C) fafim C

B) faarfim A
D) faefi=m E

BEREGIER EEE R R MR ES

T IEE TME 3R I=F A9HE W T
TEAHIHT B &, dl
A) A5 6, 6

C) wh

IR |
B) ATgeii1 6
D) Sege

ety fFr=fefag R % ages &1
ITTE § |

A) dTIgE SIgeTsh

B) dndi wifees agor

C) dq sge

D) TAREIR

e o @ rar dermv o +7 S AT
frfaeniar g 2

A) Mn

B) Fe

C) Ni

D) Cu

8 PM PCB
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66.

67.

68.

69.

70.

74k

According to Dalton’s law of partial
pressure, total pressure p,__ =

A) P+ (P —P})x2
B) p;+(p;—p;)x2
C) Py xz+(py~p;)
D) p, x; +(p; —p})x2

The value of Van't Hoff factor ‘' for
ethanoic acid in benzene is nearly

A) 1.0 B) 1.5

C) 05 D) 1.21

Unit of molar conductivity, A, is

A) Sm' mol B) Scm?2 mol-!

C) Scm2 mol D) S2cm? mol-!
is suitable for hearing aids.

A) Dry cell

B) Nickel-cadmium cel!
C) Mercury cell
D) Lead storage cell

Identify *A’" in the following reaction :

ALOy #BHCl+9H,0)—> 2 +6CT

A) [AI(H,0),1** B) [AI(H,0)**

C) [A(H,0) ] D) [A(H,0)]

Which of the following ion in aqueous
medium has orange colour ?
o
A) Cr,0,
B) Cr3*
C) MnO,~
D) MnO 2

Page No. 19

L=

66.

67.

68.

69.

70.

71.

4

STeEH o AT T g o gER, et
& Py =

A) Pyt ( p1)x2

B) P +(p5-;)%s

C) pixe+(p;~P})

D} P, X2+(P2 P) 2

oo o $eTs e W fore F BT E St
i! T T T B

A) 1.0 B) 1.5

C) 0.5 D) 1.21

e SETEHE A, 1 3 2

A) Sm~ mol B) Scm? mol~
C) Sem= moil D) S%cm? mot™!
T ) 7 o fore Iuga )
A) =6 Od

B) Fad-hefirm ¥w

C) 9rT 8«

D) e Wgrr dw

1 wiafsrar & ‘A’ Y vg=nfiu

AL Oy + 8HCI_ +8H,0,— 2A 80T
A) [AI(H,0),]* B) [AlH,0),)**
C) [AI(H,0)J* D) [AKH,0)]
Sefta wrem 8 e 0 8 forg TR s O A
TaTE ?

A) Cr,0.*

B) Cr*

C) MnO,~

D) MnO2

8 PM PCB
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72.

73.

74.

75.

76.

Picric acid is prepared from
in presence of conc. HNO,.

A) Carboxylic acid
B) Phenol

C} Nitrobenzene

D) Benzaldehyde

Williamson's ether synthesis involves
mechanism,

A} S1

B) E1

C) §2

D) E2

Which one of the following complex is
Diamagnetic ?

A) [Fe (CN) >

B) [Co (C,0,).]*

C) [CoF >

D) [Mn (CN)J*

is used in electroplating.
A) Hexane dioic acid
B) Benzoic acid
C) Methanoic acid
D) Ethanoic acid

Identify the type of isomerism
exhibited by the following complex :
[Cr(NH,) ] [ Co (CN)]

A) Linkage isomerism

B) lonisation isomerism

C) Co-ordination isomerism

D) Solvate isomerism

Page No. 20

72.

73.

74.

75.

76.

fifsre o @i HNO, = Sufeufa &
_ awmRl

A) TETEGTTh 3T

B) frtet

C) TTggesH

D) dveifEsss

faferme & $ox dyaivw A GE]
e B

A) 1

B) E1

C) S,2

D) E2

o 1 @ = s wfa-gesha @ 7
A) [Fe (CN).J*

B) [Co (C,0,),F*

C) [CoF,J*

D) [Mn (CN) J*

1 I I § 8l ¢
A) T SHIEH

B) swifgeh aTFc

C) AumIgs A

D) 31 3T

Frefafaa 9ftes gra veitfa T =
Sﬁ?l'{ﬂ?ﬂ?@,:

[CH{NH,).] [ Co (CN),]

A) kst aoreaa

B) AR THEES

C) & THEad

D) Wicae aEad

8 PM PCB
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77.

78.

78.

80.

Name the following reaction :
X R

©/+Na+F{X -—Ethi> ©/+

NaX

A) Wurtz—Fittig reaction
B) Wurtz reaction

C) Fittig reaction

D) Swatz reaction

Complete the following reaction :

CH,
| %
CH,— C - OH _20%HPO,
| 358K
CH,
CH,
I
A) CH,- C -CH, +H,0
CHO

l
B) CH,~ CH-CH,+H,0
C) CH,~CH,—~CH,+ H,0
D) CH,=CH - CH,+ H,0

O
Correct IUPAC name oft:f is
CH,

A) 1-methyl cyclohexanone
B) 5-methyl cyclohexanone
C) 2-methyl cyclohexanone

D) 2-methyl benzanone

Which of the following carboxylic acid
undergo HVZ reaction ?

A) CH,COOH

B) HCOOH

C) C,H,COOH
o

|
D) CI-C-COOH

77.

78.

79.

80.

Frafafas st = m smmu:
X R

@/+Na+RX _M_,@ﬁ

20%H,PO,
358K

CH

I
A) CH;- C -CH, +H,0
CHO

|
B) CH,— CH-CH,+H,0
C) CH,~ CH, - CH,+ H,0
D) CH,=CH—CH, + H,0

o
a %1 ¥el IUPAC A ?
CH

A) 1-Trde grEeaeeaRATT
B) 5- fhuse aamiR=AT
C) 2-Muse aEaaRaa
D) 2-fremse o

TFreferfaa § | Hlr—ar sEifRe o
HVZ s1fferan s 7
A) CH,COOH
B) HCOOH
C) C,H,COOH
|
D} cl-C-CcoOOH

| l
Cl Cl
Page No. 21 8 PM PCB
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81.

82.

83.

84.

85.

86.

87.

Chlorine reacts with
bleaching powder (Ca(OCl),).
A) CaCO, B) Ca (HCO,),
C) Ca(OH), D) Ca0o

to give

In Deacon’s process, catalyst used is
A) CuCl B) CuCl,
C) FeCl, D) FeCl,

Tear gas among the following is
A) CCl, B) CCI,NO,
C) COCl, D) CH.CI

is an example for

molecular solid.
A) SO,
C) CaF,

B) ZnS
D) SO,

The green manganate is
A) Antiferromagnetic

B) Ferromagnetic

C) Diamagnetic

D) Paramagnetic

Drugs that bind to the receptor site and
inhibit its natura! function are called

A) agonists

B) antagonists

C) antibiotics

D) antidepressants

Antiseptic, dettol is a mixture of
chioroxylenol and
A) terpene

C) terpineol

B) tetracyclin
D) iodoform

Page No. 22

81.

82.

83.

84,

85.

86.

87.

FAfE o ary iR st

TISel (Ca(OCl),) qa 8

A) CaCO, B) Ca (HCO,),

C) Ca(OH), D) CaO

et <t wfFan & Iuai Saw SR

A) CuCl B) CuCl,

C) FeCl, D) FeCl,

e ddamgiat

A) CCl, B) CCI,NO,

C) COCl, D) CH,CI
TR 319 1 IETEWT &

A) SiO, B) ZnS

C) CaF, D) SO,

FRC LA

A) ufi-eegeehd

B) Eﬁagaaﬁﬂ

C) xrl%lgaaﬁzr

D) ggehN

R U1z W a9y Tl ot 36 Wil

1 ) AT F TTel) TATE g 3

A) Tifie

B) wiawafl (deriiee)

C) whshieft (Tamaifes)

D) e (TfEiwe)

LTer PRI, TR IR SHH
u e @

A) T B) dramsfaet
C) fifen= D) AREGH
8 PM PCB
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88. isoprene is 88. Y &
A) 2-methyl — 1, 3-butadiene A) 2-framsd - 1, 3-=grEr
B) 3-methyl ~ 1, 2-butadiene B) 3-fiemss- 1, 2-sggrers
C) 1-methyl — 2, 3-butadiene C) 1-frumga- 2, 3-=yzremE
D) 1, 2, 3-trimethyl pentane D) 1, 2, 3-zm3fiemse e
89. Water soluble vitamin is 89. Ui § geiiet faarfim 2
A) Vitamin A B) Vitamin D A) faerfim A B) fararfim D
C) Vitamin E D) Vitamin C C) faafim E D) faaifm C :
X X
0.2 venas(TIT) | w0 o wenan (T
+ 2Nax. + 2Nax.
This reaction takes place in presence of g Wit goeh) Iufcufy o €t 8
A) Alkyl halide A) TEHIEA 8eT1sS
B) Ahydrous AICI, B) Fsiat AICI,
C) Ahydrous FeCl, C) f=fa FeCl,
D) Dry ether D) = §2R
91. A first order reaction is found to have 91. yuw il it w frfsrar 1 < Fraais
a rate constant, K = 5.5x10-'% s, The K=55x10"" s & | st m%
half-life of the reaction is
A) 1.26x10-3s B) 1.26x10%s A) 1.26x10"3g B) 1.26x10%s
C) 1.26x10%s D) 3.69x10"s C) 1.26x10'%s D) 3.69x10%s
92. In Haber's process for manufacture 92, ofHifan & fmin & fou ¥=w whean 4,
of ammonia, the catalyst used for sTifrar T S
increase the rate of reaction is B AT I
A) Copper B) Vanadium A) G B) Higam
C) Iron D) Chromium C) ar D) mifirm
93. During concentration of ore, the 93. 3Th o TTEhTT & G ZnS 31k PbS It
depressant used when the ore mﬁm g (felee) 2
containing ZnS and PbS is i
A) NaCN B) NaCl A, WY =) e
C) MgCl, D) HCN C) MgCl, D} HCN




94. Deacon’s process is used for the
manufacture of
A) Chlorine
C) Ammonia

B) Sulphuric acid
D) Nitric acid

95. The structure of XeF is
A) Pyramidal
B) Distorted octahedral
C) Tetrahedral
D) None of the above

96. Co-ordination number of Fe in
[Fe(C,0,),]*"is
A) 6 B) 4
C)3 D) 2

97. Square planar complex of the type

MABXL (where A, B, X, L are unidentate)
shows isomers.

A) two trans and one cis

B) two cis and one trans
C) three trans

D) three cis

98. is structure of XeOF,.
A) Square planar
B) Pyramidal

C) Square Pyramidal
D) Planar Pyramidal

99. Ferrimagnetism is shown by

© A) CrQ, B) MnO
C) CuCl, D) Fe,O,
100. P,+3NaOH + 3H,0 - PH, + A where
product A is
A) NaH_PO, B} NaHPO,

C) NaH,PO,

D) NaH,PO, C) NaH,PO,
>

04. R % fafmineg
T B B |
A) T B) WoHEh A
C) 3T D) igfesh <A
95. XeF, il Gt= 1§
A) firufied
B) faaifa sresivhim
C) Igshivia
D) 39 & & w15 T8I
96. [Fe(C,0,), )P~ Fe i wr=d §&a &
A) 8 B) 4
C) 3 D) 2

97. MABXL (& A, B, X, L 31 gsee & ) UK

ol e e STEAA A
Eaian &
A) 2 g 3R & fm
B) < i st ww T
C) dm
D) <fim &
98. XeOF, 3l U= 8
A) = QTR
B) ffirest
C) = Trfisa
D) =i fiufiss
99. Eﬁ%‘ﬁﬂﬁq% (Faifen) sas g feamn
™I
A) CrO, B) MnO
C) CuCl, D) Fe,0,
100. P,+ 3NaOH + 3H,0 — PH, + A ¥T&l
I AR
A) NaH,PO, B) NaHPO,
D) NaH,PO,
8 PM PCB
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101.

102.

103.

BIOLOGY

Bacilius thuringiensis spores are mixed
with water and sprayed to plants, which

show this action.

A} They kill the mosquitoes visiting the
plants

B) They act in the larval gut and kill
them

C) They invade the fungi and kill them

D) They get rid of the aphids harming
the crops

Match the following and choose the
correct option.

i. Bacilius
thuringiensis a. Corn borer

ii. BNA interference b. Tobacco
budworm

iii. Cry IAc gene c. Meloidegyne
incognitia

iv. Cry IAb gene d. Cotton boll
worms

A)i-c ii—a i —d iv—-b

B) i—-d ii—c iii—a iv—b

C)i-b ii—-c il —~d iv—a

D)i-d ii—a iii—-b iv—c

This was not the reason for selection

of Drosophijla meianogaster for

genetic experiments, by Thomas Hunt

Morgan.

A) They complete their life cycle in
about two weeks

B) Male and female flies were clearly
distinguishable

C) Their hereditary variations can
be seen under low power
microscopes

D) Onlyfixed number of variations were
observed in them

101.

102.

108.

L]
Page No. 25

ey

< Bacillus thuringiensis sftsmopeit < gt
7 firerme delt w fesemt wvar 8, 99 9= TR
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104. ldentify the correct answer for the below

given statements.

a. We experience nausea and fatigue
at high attitudes.

b. This is because of low atmospheric
pressure.

A) both (a) and (b) are true and (b) is
the correct explanation of (a)

B) both (a) and (b) are true and (b) is
not the correct explanation of (a)

C) (a) is true and (b) is false

D) both (a) and (b) are false

105. Give one word for the foliowing and
choose the correct option.

a. Breaking down complex organic matter
into inorganic substances by fungus.

b. Water soluble inorganic substances
get precipitated as unavailable salts.

c. Dark coloured amorphous substance
decomposes at a slow rate.

d. Further degradation of humus and
release of inorganic nutrients.

A) {a) - Mineralisation
(b) — Catabolism
(c) — Leaching
(d) — Humification
B) (a) — Catabolism
(b) — Leaching
(c) — Humification
(d) — Mineralisation
C) (a) — Leaching
(b) — Humification
(c) — Mineralisation
{(d) — Catabolism
D) (a) — Humification
(b) — Mineralisation
(c) — Catabolism
(d) — Leaching

(d) — efifem
i Page No. 26

o

104. Fr e ot & @ @ IW E=IRT |

a. I $u1g T et ofit uwEe 7egw
F &

b. 7% T SIS T % FRI Bl &

A) (a) 3 (b) 21 we E 3K (b), (@)
T T B

B) (a) 3T (b) A W § 3N (b), (a) F
ot saentr T §

C) (a) 9& & 3R (b) TE@ ®

D) (a) 3 (b) B e §

105. %ﬁ;ﬁ%ﬁ@ﬁmaﬁﬁqaﬂwﬁﬁm
1

a. HITE I STETe e TaTH| i ST e
o R
b. &
v & w9 I Sa&fd 8 9 €
c. gg%mmmamﬁaﬁa
1

d. @rR-El %1 ol am sEHHw R
TSI 919 deal ol FEg|

A) (a) —@F=
(b) — 319=
(c) — efifem
(d) — efifthense
B) (a) — A9~=H
{b) — =it
(c) — Tiifteerem
(d) - @@=
C) (a) — =ifm
(b) — EiftharT
(c) — &=
(d) — 319/
D) (a) — gHifthehe
(b) —&F=
(c) — 39=d

8 PM PCB

!
" o




bt

106.

107.

108.

Identify the incorrect statement.

A} Inplant cells the vacuole can occupy
up to 90 percent of the volume of the
cell.

B) The tonoplast facilitates the transport
of number of ions against the
concentration gradient.

C) The isolated lysosomal vesicles
contain hydrophytic enzymes such
as lipases, proteases etc.

D) Vacuole contains only water and
sap.

Identify incorrect statement.

A) The herbicide 2, 4-D is widely used
to kill monocotyledonous plants.

B} Auxin helps in cell division in addition
to cytokinin.

C) In most situation ABA acts as an
antagonist to GAs.

D) Ethylene is a phytohormone which
is a air pollutant and also a product
of combustion.

Find the mismatched.

| A) Stomach —  Alcohol
B) Small intestine —  Nutrients
C) Chylomicrons —  Liver
D) Mouth ~  Drugs

109.

The final hydrogen acceptor in the
cellular respiration is

A) NADH
B) NADPH
C) O,

D) Cytc

Page No. 27

106.

107.

108.

109.

TTeld e g

A) UTRY w3 fifFem SR F o
=1 90 W O 1

B) TFeRR HIEdT NS % 9@ RHI &
TREe ht gadTeme A 8|

C) 9o wTgHETe 6 Al J ergieEis
TSITEH S 5SS, ST o et #

D) fifarent T Shaet et 3R W@ Bien B

AT HY TgETT |

A) GITERATRN 2, 4-D 72 A W ushsiert
el s WA 3 o SR B )

B) aifaaa wrselshmsie & |y Hifie
Torarem o weTaT %

C) ottty feufai o ABA, GAs & fautia
FH a2l

D) 3TSeli T UrEgini & Y Uk =1y Jeeh
Tl g FIaE i g

TTed U BT |

A) 3T G

B) et atfa - duwaeE

C) FIFAMTIRIA -  IFd

D) I8 —  enufREf

FHIE yagr o Sifem greger woawat &

A) NADH

B) NADPH

C) O,

D) Cyic

8 PM PCB



2

110.

111.

112.

113.

Identify the correct sequence based on
number of carbon in ascending order

A) Pyruvic acid < Succinic acid <
a-ketoglutaric acid < Citric acid

B) Succinic acid < a-ketoglutaric acid <
Pyruvic acid < Citric acid

C) Citric acid < a-ketoglutaric acid <
Succinic acid < Pyruvic acid

D) Pyruvic acid < a-ketoglutaric acid <
Succinic acid < Citric acid

Fertilization external in all except

A) Echinodermata

B) Ctenophora

C) Hemichordata

D) Coelenterata

Which among the following has
persistent calyx ?

A} Chilli

B) Tomato

C) Pea

D) Brinjal

Identify the incorrect among the following.

A) The large empty colourless cells in
grasses are called bulliform cells

B) Bulliform cells are modified abaxial
epidermis of grasses

C) Meristematic layer that is reponsible
for cutting off vascular tissues is
called vascular cambium

D) Bulliform cells can turn flaccid due
to water stress
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114. Match the following.
i. Glandular epithelium 1. ear wax
il. Exocrine glands 2. fat
iii. Adipose tissue 3. salivary
giand
iv. Ciliated 4. hormones
5. fallopian
tube
A)i—-3 ii—-4 ii-2 iv-5
B)i-5 ii-2 iii-1 iv-3
C)i—-3 ii—-1 ii—-2 -5
D)i-&5 ii—-4 ii-2 iv-3
115. Identify the incorrect among the

116.

following.

A) There are 8 ankle bones and 7 wrist
bones

B) Each coxal bones is formed by the
fusion of 3 bones

C) 8™, 9", 10" ribs are vertebrochondral
they donot articulate with sternum
directly

D) The number of cervical vertebrae
are seven in almost all mammals
including human beings

Bundie sheath cell of C4 plants perform

A) Cyclic photophosphorylation only

B) Non-cyclic photophosphorylation
only

C) Both cyclic and non-cyclic
photophosphorylations

D) Neither cyclic nor non cyclic
photophosphorylations
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117.

118.

119.

120.

121.

Presence of Radula and Hemocyanins
are the characteristic features of the
phylum

A) Arthropoda

B) Mollusca

C) Echinodermata

D) Platyhelminthes

Identify the class of fungi considering
the following characteristics.

i. Aseptate and coenocytic mycelium
ii. Production of aplanospores
ili. Formation of zygospores
iv. Aquatic/saprophytic/parasitic,
habitats
A) Ascomycetes
B) Basidiomycetes
C) Phycomycetes
D} Deuteromycetes

Which of the following is not the part of
endomembrane systems ?

A) Golgi complex

B) Endoplasmic reticulum
C) Lysosome

D) Mitochondria

Muitiple fission is a type reproduction in
case of

A) Bacteria
B) Paramecium
C) Amoeba
D) Euglena

This is not a stop codon.
A) UGA B) UAA
C) CUG D) UAG

: Page No. 30

117. Ygen 3 e 6 Sufedfi-wrsem

118.

118.

120.

121.

iR fowand 8
A) TgigrEr
B) Tieieh!
C) THTEAISHL
D) wiféefeiey
Frafeiaa frgiaare w fer w w9 Fi
EURECUE LS
i, TCEH 3T GRTERI Thaeh ST
ii. e sfisopt @ SeaA
iii. TS SSITupSl I S
iv. STefi/gasiie! /ot s
A) TERmTEHiE
B) SehfEdimgtie
C) SIFhIATEHIH
D) SaeUATEHIEE
Frefafaa @ @ -7 25wt & &1 awT
Twig?
A) Titestt fepm
B) dEramiees Wigem
C) weqEm
D) "rgeihifgan

GGG A THTER AT |
A) Sfiam

B) urdfifiem

C) arfi=n

D) g

IE W9 hieH A8 8l

A) T
C) Hrgsfi

B) U
D) Zusht

8 PM PCB




e S

S——--- eSS

ot

122,

123.

124.

Match the following and identify the
correct option.

i. Water hyacinth  a. Bulbil

ii. Bryophyllum b. Offset

iii. Agave c. Rhizome
iv. Ginger d. Leaf buds
A)i-b ii—d iii—a iv—c
B)i—-d ii-c iii—b iv—a
C)i-c i—d iii—a iv—b
D) i—d ii—a iii—c iv—b

Match the following and identify the
correct option.
i. Cretaceous a. Progymnosperms

ii. Triassic b. Therapsids

iii. Devonian ¢. Thecodonts

iv. Jurassic d. Gnetales
A)i-c ii—d jii—b iv—a
B)i—-d ii—c iii—a iv—Db
C)i-b ii—a iii—d iv—c
D)i-c fi—a iii—b iv—d

Identify the True and False statements.

a. The antibodies produced against
allergens are IgA type.

b. Difficulty in breathing is a symptom
of allergy.

¢. Drugs like anti-histamine reduce the
symptoms of allergy.

d. Protected environment in early life
prevents occurrence of allergy.

A) aand b - True
c and d — False

B) aandc - True
b and d - False

C) aand d - False
bandc-True

D) aand ¢ —False
band d - True
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125.

126.

Match the crop with its variety name and

choose the correct option.

i. Cauliflower a. Pusa swarnim
ii. Chilli b. Pusa shubra
iii. Brassica c. Pusa komal
iv. Cowpea d. Pusa sada

bahar

A)i-b ii—d i —a iv—cC

B)yi-d ii—-c jii —b iv—a

C)i-c ii—a il — d iv—b

D)i-d ii—a iii—b iv—cC

Choose the correct option for the below

given statements.

a. lllegalintroduction of Clarias gariepinus

poses threat to indiginous catfishes.

b. Passenger Pigeon gotextinct because

of over exploitation.
A) (a) is true but (b) is false
B) both (a) and (b} are false
C) both (a) and (b) are true and (b) is

not the correct explanation of (a)

D) both {(a) and {b) are true and (b) is

125, Fad T 30 i 9w ¥ fiee 3 awh
ferereq =1 == Hifere |

i, Tinft a. qa1 w@hm

ii. T b. TH1 I

iii. &= c. I8 A

iv. SReT(hd) d. Y1 631 FEK
A)i-b ii-d ii-a iv-c
B)i-d ii—¢ ii-b iv-a
C)i-c ii—a ii-d iv—b
D)i-d ii-a ii-b v-c
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127. Give one word for the following and

identify the correct option.

a.

Excessive growth of pIanktonic'

algae

Floating plants with mauve coloured
flowers

Increase in concentration of toxicants
at successive tropic levels

Cutting of forest trees and burning
plant remains

A) (a) — Jhum cultivation

(b) — Algal bloom
(c) — Eichhornia crassipes

(d) — Biomagnification

B} (a) — Algal bloom

(b) — Eichhornia crassipes
(c) — Biomagnification

(d) — Jhum cultivation

C) (a) — Eichhornia crassipes

(b) — Biomagnification
(c) — Algal bloom

(d) = Jhum cultivation

D) (a) — Biomagnification

(b) — Algal bloom

(c) = Jhum cultivation

(d) — Eichhornia crassipes
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129.

130.

Identify the true and false statements.

a. In plants, the male gamete fusing
with the egg cell produces zygote.

b. The fusion of polar nuclei and gamete
is called triple fusion.

¢. Endosperm is completed consumed
by the embryo in coconut.

d. Endosperm persists in mature seed
of pea.

A) aand b —true
¢ and d — false
B) aand b - false
cand d —true
C) aandc —true
b and d — false
D) aand d - true
b and ¢ —false

This is the correct order of male
accessory ducts moving from inside the
testes to outside.

A) Vasa efferentia — rete testes —»
epididymis — vas deferens

B) Rete testes — vasa efferentia —»
epididymis — vas deferens

C) Epididymis — vas deferens — vasa
efferentia — rete testes

D) Vas deferens — epididymis — rete
testes — vasa efferentia

These are not the characteristics of
Down's syndrome.

a. Gynaecomastia

b. Furrowed tongue

c. Lack of secondary sexual
characteristics

d. Short stature with small round head.
A) (a) and (c) B) (a) and (b)
C) (b) and (c) D) (a) and (d)
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132.

133.

Identify correct statement.

A) Every 100 ml of blood can deliver
around 5 mi of CO,

B) Every 100 ml of blood can deliver
around 4 ml of O,

C) There is no significant role of O, in
regulation of respiratory rhythm

D) Atthe tissue site partial pressure of
CQ, is high due to catabolism as a
result CO, diffuses into blood

How many among the following is/are
correct ?

1. Limbic system regulates sexual
behaviour along with hypothalamus

2. Thalamusisamajor coordinating centre
fore sensory and motor signaling

3. Midbrain and hindbrain form the
brain stem

4. Medulla oblongata controls expression
of emotional reactions

5. Arachnoid is in contact with the brain
cells

A) 1, 2 and 3 are correct
B) 3,4 and 5 are correct
C) 4 and 5 are correct

D) 1,2 and 5 are correct

Identify the mismatched.

A) Himgiri —  Hiil bunt

B) Bassica — Pusa swarnim
C) Cowpea — Pusa komal
D) Chilli — Pusa sawani
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134. Which experiment proved that DNA
is in chromosome and replicate
semi-conservatively ?

A) Griffith Experiment
B) Taylor Experiment
C) Hershey and Chase
D) MclLeod and McCarty

135. ldentify mismatched.

A) I®trimester - Limbs and digits
B) Parturition — Prolactin

C) Colostrum - IgA

D) Mikk glands — Sweat glands

136. Colourblindness is a allosomal recessive
gene disorder. Human males are more
susceptible to this disease because

A) Alleles controlling normal colour
vision is located on Y-chromosome

B) Allelescontrollingnormail colour vision
is located on 21®-chromosome

C) Alleles controlling normal colour
vision is located on X-chromosome
which is single in males

D) Human males wear cooling glasses
more than females as a part of
fashion

137. Identify the wrong statement from the
following.

A) Snalils and fish go into aestivation to
avoid summer related problems.

B} Zooplankton species in lakes and
ponds enter in to diapauses.

C) Small animals have larger surface
area relative to their volume,
therefore smaller animals are rare
in polar region.

D) Thick cuticle and stomata in deep
pits are the hydrophytic adaptations
of certain plants.
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138.

139.

140.

141.

t42.

143.

Which of the following is not a
characteristics of pBR 322 ?

A) Origin of replication
B) Seiectable markers

C) Multiple recognition site for a
restriction endonuclease

D) Rop codes for a protein for the
replication of plasmid

Foul odours secretes by some plants
which attracts

A) Bees
B) Flies and beetles
C) Birds
D) Moths

Which of the following is not salient
feature of genetic code ?

A) Codons are nearly universal
B) Codons are degenerate

C) AUG has dual functional, it is an
initiator codon

D) Codons are ambiguous

Water potential for a solution at
atmospheric pressure is

A) greater than 1

B) equal to 1

C) equal to solute potential
D) pressure potential

Appearance of about 62% of parental
types in a dihybrid cross is due to the
presence of genes on

A) same chromosome but closely
packed

B} same chromosome distantly located
C) different chromosomes

D) distantly on same chromosomes or
on different chromosomes

Non-motile spores and gametes are
found in the members of

A} Rhodophyceae
B) Chlorophyceae
C) Pheophyceae
D) Cyanophyceae
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144, During DNA replication for the
polymerisation DNA nucleotides energy
is provided by
A) RNA nucleotides
B) DNA nucleotides
C) DNA polymerase
D) ATPase

145. Diplontic life cycle found in
A) Polysiphonia
B) Ectocarpus
C) Chlamydomonas
D) Fucus

146. This is the tallest flower.
A) Yucca

B) Amorphophallus
C) Vallisneria

D) Strobilanthus Kunthianus

147. The process in which the female gamete
undergoes development to form a new
organism without fertilization is called
A) Embryogenesis
B) Gametogenesis
C) Parthenogenesis
D) Microsporogenesis

148. The outer layer of the blastocyst is
called
A) Tonoplast
B) Trophoblast
C) Chorion
D} Amnion

149. This is a natural method of contraception.
A) Periodic abstinence
B) Use of diaphragms
C) Use of Lippes loop
D) Sterilization
150. This is an example of co-dominance.
A) Flower cotour in Snapdragon
B) Height of Pea plants
C) ABO blood groups
D) Eye colour in Drosophila
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